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1. 	Define the following 	 1x5=5 
(a) Inclusion 

(b) GRID 

(c) Early intervention programme 
(d) Special school 

(e) Resource unit 

	

2. 	Answer in two or three sentences : 	2x5=10 
(a) What do you mean by MBO ? 
(b) What do you mean by transition 

planning ? 

(c) What is the meaning of integration ? 
(d) What is open schooling ? 

(e) What is the need of early intervention 

programme for children with hearing 
impairment ? 
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3. 	Write short notes on any four of the following : 5x4=20 

(a) Difference between supervision and 

inspection. 

(b) School readiness programme for children 

with hearing impairment. 

(c) Need-based curriculum. 

(d) Factors influencing successful inclusion. 

(e) Role of NIOS. 

	

4. 	Answer any one of the following : 	 10x1=10 

(a) What are the different types of special 

schools ? Write their advantages and 

disadvantages. 

(b) What do you mean by systems approach ? 

Describe its principles and importance in 

management of a school. 

(c) Describe different types of schedule. What 

factors will you consider while preparing 

time-table for a pre-school programme ? 
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1. 	fiTi chl Trftl.Trr-Erd 	I 

(a)  

(b) 4,11 	 (GRID) 

(c) ch Ai 4-r 

(d) fq*Et Fc1-1101-1 

(e) *FF-1Bch ch 

1x5=5 

2. 	tzfic-11-1 -Wq;=1) 1 	 2x5=10 

(a) - 114.41.341'. chr 342,i air 

(b) 340 Tql ? 

(c) 3-124 off t? 

(d) iqcfc-I rclq-11c1?-4 'TM*? 

(e) Tqcrf 	 t-  R-1 3TRTifq-3-  

is

-  

t? 

BMD-015 	 3 	 P.T.O. 



3. 1-14---f ••=1 	FM-  T-ffW=1 	 : 
	5x4=20 

(a) -R414.1-il 	 3-td- 

(b) (76--171- 	 a-)1-I4-, 4-i 

(c) 3-111q-ichcff —311.9 	41(0311 4-1 

(d) Tfch 	 1;1 	is 1i 	1-dt4r, 

(e) 1-17F-Wi 

4. f'91f tr 	 cl-)1 
	

10x1=10 

(a) 	1- 71r4 1-1q,q1c-ig 	fq-fim 

qct? 	dr 

(I)) 	cis (R-R-id)),) ‘3414 1id chi 340 wt? 

-9-4qff Ti,= 

 

	

f a 	~l 	aril  

fcifimT ,J*R 	—r-4TOt 

1-)14* 4-ft R-1 1  Tra-zr --ffRufr 

qTrt--*- cfv-4rff T-44 ? 
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